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Cluster: 0124 ptr; resid: 0.32; r/c: 28/74

x.range

upstream meme PSSM #1; e=1.9e+04

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=6.2e+04

1 3 5 7 9 111 3 5 7 9
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11965

7349

9235

12902
13076 26029

19568

29217

10774
12161

24772

35002

35363 36383

36446

3689937009

43326

43387

43579

44274

44572

45590

46093

46596

48493

48817

50024

string −500 −400 −300 −200 −100 −1
46596NA
10774−0.01
46093−0.09

7349−0.29
44274−0.31
36446−0.31
13076−0.62
50024−0.69
48817−0.76
35002−0.83
48493−0.91
35363−1.11
24772−1.41

9235−1.52
12161−1.69
26029−1.82
36383−1.94
29217−2.27
43579−2.30
12902−2.53
37009−2.56
44572−2.84
43387−2.86
43326−2.87
45590−3.28
19568−3.48
36899−3.51
11965−4.22

log10(P) upstream meme1 2 log10(P.clust)=−1.74; 28 seqs; 28 uniq
c(0.5, 2.5)
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